T3 flx) = ¥2—x, g(x) = 2x+ 19 A5t (fogo £)(1) 2] AH2?

®© -2 @ -1 @0 @ 1 ® 2

f(1) =0°lBZ (go f)(1) = g(f(1)) = g(0) =1
S (fegef)1) =f(1) =0
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f(x) =2x+6, g(x) =ax—1°] ot fog=gofd i, a 2]
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(fog)(x) =2g(x)+6=2(ax—1)+6
=2ax+4 ---Q

(go f)(x) =af(x)—1=a(2x+6) -1
=2ax+6a-1---©

D, ©°MA 2ax + 4 = 2ax + 6a—1

4=06a-1
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= @5 f(x) = x43, g(x) = 2x—1 9] Ik (fog)(x) & Fot

@ (fog)(x)=2x+5 @(fog)(x):2x+2
® (fog)(x)=x @ (fog)(x)=-x+1
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(feg)x) = f(gx) =f2x-1) = (2x-1) +3 =2x+2




S f(x) = 2x+5, g(x) = =3x+koll ot (fog)(x) =
2

(gof)(x)
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(f 0 8)(x) = (g o f)(x) °lIA
—6x + 2k + 5= —6x— 15+ k
o k=-20
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@ 3-2x @)1 - 4x ® 1-3x

@ 1-2x ® 3-4x

f(x;1> =3x+2 A x+1 — ¢ 2t1 51H
x=2-1°B2 f(1) = w—m+2:m—1
((552) (52 -

=2-4x-1=1-4x




(x) & ot¥?
@ y==-x+2 @yz;lx—Z
@yzlx—l @yz%x+2
h(x) = ax + b =2fal
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x=19d. a+b=1

(hogoflx=(hog)(f(x))=f(x) N hog=1
x=02 ), -a+b=0

=
Z (hog)(x)=x, a2x-1)+b=x




7. " flv) = _i)f?ml ol tisted f1=f, f+ = foft(n=1,2,3, --)

ola} g |, f2006(_g) 4 f2007(_9) o] ko9

@® 3 @ 4 3)5 @ 6 ® 7

f(=2) = _62113 =7

2(=2) = f(f(=2)) = £(7) = -2
f(=2)=f(FA(-2) = f(-2) =7
fH(=2) = f(f3(-2)) = f(7) = -2
f2006(_2). — 9

f2007(_2) =7

f2006(—2) + f2007(_2) — 947—5




